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RDCAUA Test Yourself =5

LBW

1. Circle whether the striker is Out or Not Out.

The ball is not going over the stumps and has not been struck by the bat.
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2. Mark each statement as True or False with an “X”

Statement

True

False

If the striker is hit on the pads directly in front of the stumps by a full toss, then
he is automatically “out”

The striker should not be given out LBW if the ball pitches outside the leg
stump.

A batsman cannot be given out if he plays a shot at a delivery that pitches
outside the off stump and contacts his person outside the off stump.

If the ball hits the pad first and rebounds onto the bat, then the batsman cannot
be out LBW.

The striker can be given out LBW if he offers no legitimate shot at a delivery
that contacts his person outside the line of the off stump.

3. In your opinion, what constitutes an attempt to play a shot? What indicators do you use to make this

determination?

4. A right arm bowler is bowling over the wicket to a right-hand batsman. He is bowling from well wide

of the stumps and is generating some inswing and off cut. The striker is batting a foot out of his

ground and then stepping well forward to play the ball. He is struck on the front pad in front of the

stumps trying to work the ball to leg. The wicketkeeper appeals, presumably for LBW, from a

position outside leg stump. How do you assess the value of the appeal?

5. A vicious spinner of the ball is bowling. He bowls a full toss that hits the striker on the pads plumb in
front of middle stump and it is your opinion that the ball if it had continued on its present path would
have hit middle and off stumps, half way up. But, because the ball would have pitched before it hit the
stumps, you know that it probably would have turned enough to miss the wicket completely. There is

a very confident appeal. What’s your decision and why?

6. When bowling right arm around the wicket to a right-hand batsman, what makes it more difficult for the

bowler to gain a LBW decision?

7. When at square leg, how can you assist your colleague with adjudication of LBW decisions?




